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fears only one service in tennis -- Michael Stichs. His toss is always
the same: the straight one or the topspin. Sampras has a good serve
and Becker too, but Stichs is the toughestto read. [J [ U 0O O 0O [
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OO00000000O Obesity isamedical disorder that affects
approximately 20-30% of the population of the United States of
America. It is an excessive accumulation of body fat that results from
the storage of excess food energy calories in the bodys fat cells. 1.
Most American people suffer from obesity. True, False or Not given?
2. This paragraph presents ... A some examples of obesity B a
definition of obesity C the different types of obesity D the treatment
ofobesity U0 O OOOO0OODO: False, BUOOOOOOOMO
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[ OO Computers have been used for most kinds of crime, including
fraud theft, larceny, embezzlement, burglary, sabotage, murder and
forgery, since the first cases were reported in 1985. J U 0O 0 O O [
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[1 Genetically-modified organisms (GMOs) are a double-edged
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hand, however, rather, but, despite, inspiteof 0 [ 0 U 0O U 0O [
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the conventional wisdom may be that all people who have reached
retirement are enjoying a life of leisure, there are, in fact, a sizeable
number of aged workers. Net population gains through interstate
migration have been experienced in Queensland and Western
Australia. In Victoria and Tasmania, on the other hand, net losses
have occurred. The main difference between the more recent and
older teaching materials is that vocabulary and grammar are not
longer taught by using long quotations from literature or endless
repetitions of isolated sentence. Rather, they are taught in the context
of everyday situations. In spite of his wealth, Mr. Jones lived very
simplyinaone-roomcottage. 1 U U 0000000 OoOn
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OO00000000000 O because, because ofL] due to, result
from, as a result of, be a consequence of, be attributed to . (1 [J [J [
[1 [0 as a result, result in, lead to, cause, contributed to. L1 [1 Elderly
women outnumber elderly men because of gains in female longevity.
Population aging is mainly due to a decline in fertility. The high
number of visa over-stayers is a direct consequence of economic
conditions. The fall in the number of people smoking can be
attributed to education programs. The government raised the tax on
alcohol. As a result, sales declined by 2%. The 1982-83 recession



resulted in a reduction in the total migrant intake in 1983-84. It has
been clearly demonstated that smoking leads to heart disease and
cancer. Immigration after the Second World War contributed to
populationgrowth. 0 D 0 0 OO0 04000000000 0O40
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